Worksheet 1

Dividing 2-Digit Numbers

(c) 79+4

(e) 96+8
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(b) 254:4

(d) 436+:8
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o Circle the greatest number and cross out the smallest number in each box. e Fill in the place-value chart. Arrange the numbers in increasing order.

Tens Ones Tenths Hundredths
(b) 10.37 12.37 10.35 12.35 1
1
{c) 16.05 10.5 16.5 10.65 +
(d) 34.92 36.7 3248 30.79
(e) 442 22.4 424 24.4
o Fill in the place-value chart. Arrange the numbers in decreasing order.
o Fill in the blanks with > or <, 76.18 76.1 67.81 67.8
(o) 124 21.2
WO rkS h e et 2 Tens Ones Tenths Hundredths
(b) 13.57 13.59 +
© 2232 22.23 I
(d) 30.03 3013 +
(e) 546 54.61




Rounding Numbers

o The number of books in the libraries of some schools are shown.

2896 books

6257 books

aaes |

-
"+ 1School Ef
b+ 9

44 >4

3921 books 8763 books 7048 books

(@) How many books are there in the libraries of School A and School B?
Give your answers to the nearest 100.

School A

School B

(b) Inoneschool’s library there are 7000 books after rounding to
the nearest 1000.
Which school is that?

(c) Inone school’s library the number of books is the same after

rounding to the nearest 10 and to the nearest 100.

Which school is that?

° Complete the table.

Number

Rounding to
nearest 10

Rounding to
nearest 100

Rounding to
nearest 1000

6543

3751

2033

4545

6004

Worksheet 3

Rounding Numbers

° The mass of some animals are shown.

(@) Whatis the mass of each of these animals?
Give your answers to the nearest 1000 kg.

African elephant giraffe rhinoceros hippopotamus Indian
elephant
v . .
; ’ | q n '

5138 kg 1429 kg 1653 kg 2098 kg 3625 kg

(b) The mass of two animals is about 2000 kg when rounded to the
nearest 1000 kg.
Which two animals are they?

and

o Round these numbers to the nearest 1000.

(@ 2278= (b) 5499 =

() 3501= (d) 7684=




Worksheet 4

o Simplify.

{u} Ei —

&
(a) 28

—
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Circle the mixed numbers that are in the simplest forms.
: 3 ] & [ .5 I & I
2= 89— 1= 7=
S 10 2] [#]
] 2 l 5 3 l
= = 2= a3
s 2] © 8 12 ; 7

Match each mixed number with its simplest form.

Ear (2
2% - - 21
1% - - 12
22 | @ - 2%
2% - - 11

S




o Multiply to find:

o) 123=4=

1004 =

20=4=

(b) 217=3=

200=3=

10=3=

;u3=t____J

-+

fc) 719=5=

(d)

BOO=7= |

Worksheet 5

9 Multiply.

(o)

316 =6 =

c)

(c) 5=215 =
() 324 = 3 =

(g} 2=435

()

(d)

()
()
()

(h)

G

& 3
» &
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423 = &

5 6

x 5
-

516 =5 |

4= 218 =

T4G x 2 =

637 =2 =

3= 629 =

524 = & =




